
Arbeitsblatt

28.07.2013

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 6380

Aufgabe 1

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:500000 134 cm

1:50000 5300000 cm

1:500000 114500000 cm

340 m 3400000 m

1:125000 39250000 mm

1:10000 70000 dm

1:100000 25200000 m

1:100000 193 dm

1:250000 51750000 m

1:100000 4000000 cm

Aufgabe 2

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:125000 2 dm 6 cm

1:125000 28 km 375 m

1:500000 151 km

1:50000 2 km 150 m

1 dm 8 cm 90 km

1:100000 31 km 900 m

1:10000 3 km 520 m

1:250000 89 km 500 m

1:125000 43 km 750 m

1:500000 136 km 500 m
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Aufgabe 3

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:75 4,125 m

1:10 1,43 m

1:25 1,45 m

1:10 1,02 dm

8,3 cm 4,15 dm

1,8 cm 1,35 m

1:5 5 mm

6,2 cm 6,2 dm

9,8 cm 4,9 dm

1:10 6 dm

Aufgabe 4

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:125000 36875000 m

1:100000 19600000 km

1:100000 146 m

1:50000 9400000 cm

252 mm 31500000 mm

1:100000 83 m

1:10000 45 mm

1:500000 331 dm

13 km 1300000 km

1:250000 57750000 m

Viel Erfolg!
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